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ENGLISH VERSION

Instructions : (1) Answer all the questions on the basis of internal

options.
(2) Answers to Q. No. 1 M.C.Q. should be given in
the main answer book.

(3) Right side figures show the mark of the questions.

1 Choose the correct option on the basis of internal option. 20

ey

)

3)

4)

()

What is called agricultural production hector-wise ?
(A) Agricultural growth

(B) Agricultural productivity

(C) Agricultural production

(D) Agricultural Development growth

What is the meaning of rainbow revolution ?

(A) Green revolution

(B) Blue revolution

(C) White revolution

(D) All of the above.

The following factor is not introduced as a certain factor
of green revolution ?

(A) Modern agricultural tools

(B) The use of fertilizer

(C) Traditional system for production

(D) The facilities of irrigation.

The green revolution was started in Indian agriculture

sector in .
(A) 1966-67 B) 1969-70
(C) 1958-59 D) 1973-74

The revolution in milk and milk products
means

(A) Rainbow revolution

(B) White revolution

(C) Blue revolution

(D) Green revolution
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Which countries are taking objection in the free labour
movement with reference to globalization ?

(A) Developing countries

(B) Developed countries

(C) Less developed countries

(D) Semi developed countries

The reserve criteria for the foreign rate of exchange in
India in June-2008.

(A) Rs. 8,39,913 crores

(B) Rs. 12,98,552 crores

(C) Rs. 9,36,597 crores

(D) Rs. 12,96,023 crors

The system in which the economic decisions are taken
by the market is known as

(A) Liberalization

(B) Industrialization

(C) Privatization

(D) Globalization

After the economic reforms of 1991, the industrial
development growth rate of the India since last 24 years

18 .
(A) Remain stable (B) Increased
(C) Decreased (D) More decreased

Which activities were encouraged to relax the restrictions
on the foreign goods ?

(A) Export activities

(B) Reexport activities

(C) Import activities

(D) Import substitution

Which part would you consider "The Process of
disinvestment" ?

(A) Privatization (B) Liberalization

(C) Nationalization (D) Globalization

In the 12th plan how much saving rate is determined
during the plan period ?

A) 41% B) 38.9%

©) 35% D) 32%



(13) Which are the weak side of 12th plan ?
(A) Over ambitious plan
(B) Difficult to achieve 9 to 9.5% growth rate.
(C) Difficult to achieve the target of financial sources.
(D) Above all three.
(14) In the 12th plan, how much investment rate 1is
determined ?
(A 37.5% B) 41.4%
©) 39% D) 42.5%
(15) In the 12th plan, how much targets fixed for the
investment in public sector ?
(A) Rs. 85,73,422 crores
(B) Rs. 83,80,245 crores
(C) Rs. 91,60,248 crores
(D) Rs. 76,47,330 crores
(16) Which industries are very important to solve the basic
problems of Indian economy?
(A) Consumer goods industries
(B) Service sectors industries
(C) Small and cottage industries
(D) Big industries
(17) In medium scale industries, which factor is specially
responsible for productivity ?
(A) Availability of electrial power supply.
(B) The skin of entrepreneur
(C) The process of raw material
(D) Availability of man power.

(18) How many small scale industries was there in

2007-08 ?
A) 1,25,35,000 B) 1,15,65,000
(C) 1,33,67,000 O) 1,44,51,000

(19) According to the recommendation of Abid Hussain
committee the investment limit is expanded for small
scale industries is )

(A) Rs. 2 crores (B) Rs. 3 crores
(C) Rs. 4.5 crores (D) Rs. 5 crores
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(20) For which reason the medium scale industries are

important in India ?

(A) To satisfy the necesities of green revolution.
(B) To the view point of industrial decentralization.
(C) To provide employment.

(D) All of the above reasons.

2 Describe measures to tackle the problems of small scale
industries.

OR

2  Describe the problems of medium scale industries.

3  Describe the main problems of small scale industries.

OR

3  Explain the brighter sides of 12th plan.

4 (a)

(b)

Write short notes : (any one)
(1) Privatization

(2) Importance of small scale industries.

Write short notes : (any one)

(1) Limitations of green revolution.

(2) Globalization

5 Write short answers : (any two)

ey
)
3)
4)
()

Weak sides challenges of 12th plan.

The factors determining the green revolution.
Evaluate the India's economical reforms.
Achievements of green revolution.

Describe measures to tackle the problems of medium

scale industries.
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